14. Why does the electroneg :ivity increase as you go across the period?
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15. Why do noble gases hay : zero electronegativity?

Mﬁﬂj M:’ Np pood for ancthor €

¥ L3

16. Why does the shielding effect sta constant when going across the period?
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17. Is there a relationship between the number of valance clectrons and ¥4 E ;\‘
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18. Why does the third ionization energy inerease significantly with the calcium
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19, Which orbitals hold the valance electrons? S and 'P
20. What element has the electron configuration 15™25°2p"3s%3p’ 2

71. What does the det diagram look like for an atom with the ¢lectron
configuration 1s222.322p';3s?‘3p5 ? A Uiy
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22, What would be the clectron configuration for the F', fluoride ion?

23, How many valance electrons do each atom try to obtain? %7

24. What do you notice about the aumber of valance electrons as you move from
left to right across a row OF period on the periodic table?
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~ 25. What is the electrom configuration of petassium?

26. Group A elements are known as _[qﬁa__ﬂdjh\[e QQQ«W!M




